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PSYCHOLOGY

Paper II

HAEITHA
UrELIECIM

Time Allowed : 2 Hours]
Note : This Question Paper contains Hundred (100) multiple choice questions.

[Maximum Marks : 200

Each question carries Two (2) marks. Attempt All questions.

U Med. |d W e

TOAT @ A TR TR PR (100) TETEE WA fool ofed. Yo TR 8 (2)

Interaction effect in 2 x 2 completely

randomised factorial design is best

described by :

(A) Effect of IV 1 on IV 2

(B) IV 1 and IV 2 significantly
impact DV

(C) Effect of DV on IV 1 and IV 2
leads to interaction

(D) Effect of IV 1 on DV changes
for different levels of IV 2

Which of the following are aspects

of need for power ?

(1) Need to impress, influence

(2) Readiness for performance to
influence people

(3) Readiness for warm and
communicative

(4) Desire to do better and be
successful

(A) only (1)

(B) Only (1) and (2)

(C) Only (2) and (3)

(D) Only (1), (2) and (4)

2x2 YUIYU Agfess  ARTEEATHEd

I RAE o B E e = s o1 ke e o |

(A) IV 1 =1 IV 2 s 9Rom

(B) IV 1 a7ft1 IV 2 § DV & wefaa
EIGIN

(C) DV =& IV 1 371 IV 2 & guiferd
e STl TSadl

(D) IV 1 =1 DV =det gRome =1 IV
= AT UdeSTdIs! avledl 378

T TeTdeh! IV TO=A] TS AT
3TMeq ?
(1) vvifad SR RS

fa bt

(2) 9 FE TUIE TIRE
qoferd shid

(3) Hfaquiar 9 WSO qErd

(4) =T S0 F IIEET BIOAT ol

(A) W (1)

(B) e (1) 30T (2)

(C) W (2) =fur (3)

(D) ®eRl (1), (2) AT (4)
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The five-factor model draws

strength primarity from :

(A) Cross-cultural stability of
questionnaire factor structure,

antogenesis, and gender

difference
(B) Strong experimental evidence

(C) Cross-cultural stability of
lexically derived FFM

(D) Strong genetic and biological

basis for all dimensions

The time it takes the intentional
system to become prepared for

something fresh is known as a :
(A) Refractory period

(B) Refectory period

(C) Attenuation period

(D) Feature integration period

Lexical research on personality
shows that :

(A) Big-five are universal

(B) Some cultures show different

factors

(C) Every culture has unique

structure

(D) Big-five and FFM are same

3.
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ﬁﬁﬁaﬂﬁ:
(A) AfFIRRT FIA
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(C) /= A
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(A) &7 wEew ¥ Afvas TR
(B) &l T&hdl AT 3TEM <eifaad

(C) Yok T&haHe &d = 3T ol
3

(D) Big Five (SN ®Ee) M1 TH.
Th. TH. & THA 3Med




When clinician takes detail history
of delinquency and criminal offences
with punishments received by
person. This format of case history

known as .......cccec...... .

(A) Family history

(B) Medical history

(C) Personal history

(D) Forensic history

Central fissure separates .............. .
(A) Frontal and occipital lobe

(B) Occipital and parietal lobe

(C) Frontal from temporal and

parietal lobes
(D) Frontal from parietal lobe

.................... is a fiber bundle that
connects the hippocampus with

other parts of the brain.
(A) Basal ganglia

(B) Corpus callosum
(C) Fornix

(D) Choroid plexus
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10.

11.

Which of the following is a correct
order for steps in interpretative
phenomenological analysis ?

(1) Theme identification
(2) Encounter with text
(3) Make summary table
(4) Clustering

A 1) -2 >4 > 3
B 2 >4 -6 - 1)
C @ -0 -2 -0
D 2)->1) - @ > 3

Which of the following model
assumes that velocity, form and
orientation of a stimuli are
registered early and automatically
identified
separately only at a later stage ?
(A) Feature Integration Model

(B) Direct Perception Model

while objects are

(C) Recognition by Component
Model

(D) Pandemonium Model

Which of the following is not a bias
of availability heuristics ?

(A) Effectiveness of search sets
(B) Ease of retrievability
(C) Illusory correlation

(D) Misconception of regression

10.

11.
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ECAPECA A BRI S E I M MG EIGI G
TXOTEE AT HH R A ?
(1) faorEm=i e
(2) HeeTAERISR AHAl
(3) Hiyw el Sfa

(4) TR/ AR

A) 1) > (2) > 4 - 3
B) 2) > @) - 3) - (1
C) @ - @B -2 -1
D) 2) > 1) > 4 - 3)

EeleTyeh! IV UTEY § el &Rd i,
ST, S, SRR S0 ST am=t
g sieT iRy wed enfer S
s AR B ?

(A) ¥2F THAHL JEd

(B) Tg& Hded Urey

(C) THIER @ ey

PN

(D) 3ATheATa Y-SHIM

qH Al

WEATeTIeh! IO SHCTSHT  TarTHIos
et Bomd Sty TR ?

(A) e FErar gHmEaon

(B) wiem=n rowom

(C) 9H=RI HaHaY

(D) HHATSIES Yt




12. Which theory suggests that colour

13.

vision can be explained by the
existence of three types of cones,
which are maximally sensitive to
blue, green or red ?

(A) Opponent-process theory
(B) Trichromatic theory
(C) Signal detection theory
(D) Gate control theory

Match the appropriate monocular
depth cue with each example :

Example

() One building partly blocking
another

(@1) Railroad tracks converging in
the distance

(zi1) Closure objects appearing to
more faster than objects farther
away

(tv) Objects further away looking

smaller than near objects
Cues
(@) Motion parallax
(b) Linear perspective
(¢) Interposition
(d) Relative size
(@ ®) () ()

(A) @) @) @) Go)
B) @) @ G ()
(C) Gv) @ @ @)
D) @) Gv) @ @

12.

13.
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=il fagid oo g TR

P CORES ?Icheli BHHR?h o f‘rlaﬂ %IEH

9 A UMl Hafd S Heeagia

AYdrd ?

(A) FdFe 9w faga (faeg wfhan
fas)

(B) TEeMfew faga (Havt fag)

(C) fogmer fedwwm fagia (Sha oy
ITYRIT)

(D) T Fia faga (gR e fagm)

Teh131 Wiell Hehd 9 SaTeLu 2= Sl

[GIC1I

3JGlglul
() TH THRD TEAI a1 v | MRC I Y

AT

(i) STMEN ¥ TLER HedHl fGoam

(i) SToes STHCIEA %] ST o &l

FMed TH WIHd, LEde S
QF’FI?I

STaciel T qord gladd o]
gl[ HAHdTd

Hendd
(@) TIRM YR/ THE
(b) wifeR qHUfaes/ G giteh
(c) ST/ AeaeeT
(d) Teifceg wE=/EMe SR
(@ b)) © @@

(tv)

(A) Gu) @) @) @)
B) @ @ @) ()
(C) @) @) @ @G0)

D) @) @) @ @
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15.

............... perspective considered the
relation relationship between
individuals and their physical
cognitive, personality and social

world.

(A) The humanistic
(B) The biological
(C) The eclectic
(D) The contexual

The three assumptions made by

lifespan developmentalists include :

(1) A focus on human development
(2) An understanding of stability in
addition to growth and change and
(B) e .

(A) The development persist

throughout our entire lives

(B) The childhood developmental
changes are the only changes

worth studying

(&)

Some periods of the lifespan are

more important than others

(D)

Development is a stagnant

process

15.
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(A) HHEETET
(B) <ifaer

(C) 9=

(D) weH=

STe e foane ST ESH Hieaed
qH TTRIAeRTIHI
(1) "M ToermEEeR WX (2) STieq feerer=n

UAIEd d@ 37U dgel Jey 9l

(A) Toerm & Tt Sia =Teromt g
3

(B) STAhT=AT TaehTHIcHeh SIeeA T BV

ICA TF HE@YU S ST
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Q. Nos. 16-18 : are based on the | g & 14518 . gmr TyEEt TR wwa
following paragraph. Read the

TSTTIES HINeeh TS ==l

following paragraph and answer

the five questions that follow : faerfaa ia . fq gmet faum
A researcher is developing yiaferan fagia (emey =g faemd)

psychological test for measuring
L. faum ufder & Jra/sEr

mathematical ability of normal
sample. She wused Item (0, 1) wfdafsran Softe 2. ST

Response Theory (IRT) for the 300 TEYT=T W T Se T

same. Responses are scored as
IRT model & 1 PL (Y2t b), 2PL

correct/incorrect (0, 1). The data

of 300 respondents was collected (4HeX b et a), 31 3PL

on 5-items. IRT models are 1PL (FfHeX b, a & ¢) B T

fageron ErefeyET o

(parameter b), 2 PL (Parameter
b and a) and 3 PL (parameter,

b, a and c¢). The data is as b) (@) (c)

follows :

®) (@) ©) Item 1 1.8 1.0 .03

Item 1 1.8 1.0 .03 Item 2 2.2 1.3 .002

Item 2 2.2 1.3 .002
Item 3 1.3 0.5 .08

Item 3 1.3 0.5 .08

Item 4 -10 25 002 Item 4 -10 25 .002

Item 5 3.2 2.3 .02 Item 5 3.2 2.3 .02

9 [P.T.O.



16. Which single item need to be

17.

18.

removed from the test to make the
test suitable for average ability

individuals ?

(A) Item 2

(B) Item 3

(C) Item 4

(D) Item 5

Item 4 in the test has :

(A) high discrimination, low

difficulty, and low guessing

(B) low discrimination, high

difficulty and low guessing
©)

high discrimination, high

difficulty and low guessing

(D)

low discrimination, low difficulty

and high guessing
Which of the item/s is easy to guess ?
(A) Item 1
(B) Item 3
(C) Item 4 and item 2

(D) Item 5

APR - 13224/I11—C

16. 3791 Il Teh 99 (Item) 378 1 il

17.

18.

STHAT I HE UTdes=al e EIal
Afer Irg BEd 2

(A) JAHIH/UZA 2
(B) &&FeH/URA 3
(C) 3FeH/usd 4

(D) A=EH/994 5

I [tem 4 9E0 :

(A) =g faugtestor, f=1 e snf
Ei= B S LE

(B) f=1 fauistor, S=a weg i
=1 s

(C) =2 Ta¥ciertul, S=9 HIevg
=1 s

(D) = fa9stm, ™= Feg anfo
= SR

SIS HiSauaTHIS Weiieiteht ShIoTdl

Yo Ha| " e ?

(A) 91 1

(B) w¥9 3

(C) 939 4 37for 939 2

(D) 931 5
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19. Which of the following is correct

alternative for the Assertion (A) and

Reason (R) statements ?

Assertion (A) : Significance of F-
statistics is not necessary for multiple

comparison procedure (MCP).

Reason (R) : Most recent
researches (e.g. Grissom and Kim,
2005; Kirk 1995) show that no
comparisons are significant even if
the F is significant, and F and MCP

have different probabilities for

rejecting null.
Codes :

(A) Both (A) and (R) are true and

(R) is correct explanation of (A)

(B) Both (A) and (R) are true but
(R) is not correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

19.
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“faum (A) 31T SR (R) SRR Wt

oM Tt e, Tl feeiean Hehdienr=

R 3 L.

faam (A) : sgfayg qa gfskadel F
T AU SIS E

FHIOT (R) : 3Tciidheld O9ied <9ied
(321. firm a7t =619, 2005; fHes 1995)
%l F @i o8en ad qo aeui

THa S F ==l 9 sgfag ==

TSIl el AT

e

(A) (A) 37t (R) ¥ 3fTed A7 (A)
T (R) ¥ oo) TS0 3118

(B) (A) o7t (R) ¥¥ 3Ted T (A)

T (R) 9 S TILIhIU gl
(C) (A) ¥ 31E g (R) T 1A e

D) (A) 319 3¢ W (R) T ¥ 8

11

[P.T.O.



20. Match List I with List IT and select

the correct answer using the codes

given below the list :
List-1
(Paradigm)
(P) Positivism
(Q) Social constructionism
(R) Critical
(S) Post-modernism
List-I1
(Emphasis)
(1) Objectivity
(2) Inherent problems
(3) Power, inequality
(4) Social context and interaction
Codes :
® @ ®
Aa @ & @O @
B 1 @ @ 3
©c 1V @ 3 @

D 3 1 @@ @
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20. =l I onfor =Et I Hefier Siresn &

T N Eeltd oo ehdrenT=a SuanT

e Y AUl S HU
LI
(aTET)

(P) HhRIHR

(Q) dHISF: TEAHFAE

(R) lehreAs

(S) YIRS
It 11

(VT 3NET HEw)

(1) ogiTeedl

~

(2) sTaffed ToEm

(3) YK, STEHETA
(4) w1y enftn Srafshan
F@R‘ﬁﬂ? :
P) Q@Q ® (5
A @ G @O @
B 1 2 @ B
e O @ 3 @
D B 1 @ @
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21.

22.

23.

Trolling is a form of :

(A) Bullying

(B) Hacking

(C) Friending

(D) Appreciation

The term ‘illness iceberg’ refers to:

(A) When the majority of illness

symptoms are ignored

(B) When the most Psychiatric and

Psychological symptoms

ignored

(C) When prognosis of disorder

made on basic symptoms

(D) When the patient shows

comorbidity with other

disorders

For a completely randomized design
with IV at three levels, if we carry

out ¢-test, then :

(A) Type II error remains same
(B) Type II error increases

(C) Power is high

(D) Type I error inflates

21.

22.
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ST WU TH YRRl

(A) <RI

(B) et

(C) #=ft

(D) HIgH

‘oo fera’ B =T WieleTieht SR

ehe TEYid STet Sd 2

(A) Siegl 9g9Ed AN A0 gellard
EISIRSIGIG!

(B) Si=g1 &= HAlfaka A0
UL A0 el & shell Sdwd

(C) Siegl AMEh STSRE YR STHM
e A=A g1 shel ST

(D) =g Tu fafay (uehden <)
A STeR gRifaal

23. qUivY Agfeee YRR STREETEe]

IV & o Udesliel e, SR HHud
(=T e, 9 :

(A) 29 11 YHE Seod ATel

(B) 29 II Y9 oTed]

(C) R amed

(D) 2=9 1 99E aTedl

13
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24. What is incorrect about Ekman and

25.

Friesen work on the facial

expressions ?

(A)

Primary expressions include

surprise anger, sadness, disgust

(B) Primary emotions are universal

©)

Russell argued it as method

artifact

(D) Russell argued for maximum

universality

High positive correlation between
self-report and observer report on

personality questionnaire indicates :

(A) High reliability of self-report

measure

(B) High reliability of other report

measure

(C) Normative use of other report

measure

(D) Validity of self-report measure

APR - 13224/I11—C

24. THHT M0 WEEHE A=Al Ag=aERid

25.

A=A ST TeITerd 1 ehid S ?

(A) Wt afvyersmed =, T

3G, Tl AT

(B) Wufisr a1 afves amed

(C) T8 HFAl 1 A Tgde SHaded 3me

(D) W Haifyesr Sf¥gshddl HHal

fFIHTe YIS T&-3TgdTe 3Tl

e 3T89Ta Adia =9 ¥HTHS

TegaYy gyifadl i

(A) T-3T8aTArl I=u favadad

(B) Tietsh Tearard! 3o favag-radn

(C) e T8ardre HM% a9l

(D) -3TeaTelr= aerd
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26.

27.

While verifying the hypothesis in

research Type I error occurs when :

(A) A false null-hypothesis is

rejected

(B) A false null-hypothesis is

accepted

(C) A true null-hypothesis is

rejected

(D) A true null-hypothesis is

accepted

In the POCSO Act, POCSO is

an

acronym for :

(A) Protection of Children from

Sexual Offenses

(B) Prevention of Child Sexual
Offenses
(C) Preventive Office for Child

Sexual Offenders

(D)

Processing of Crimes of Sexual

Offenders

26.

27.
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TINEAHES STTH TSdTevit HEa
TE9-1 TG e wedl 2

(A) Sieg e AT ATE heresen
EIG)

(B) Sieg fhean s19g sy e
STl

(C) Sieg1 H HAUT ST el
Einll

(D) Sl ¥ AT ST EehR
Bl

TRt Weemed POCSO & i vregr=
fo@R e/ dal

(A)

geRM 3w faegd M TeRperd
Awfgw  (ITAFTE A (TR
SISO ER&T0T)

sy AT®w Asees dFd
Aefaa (Iras «dfrs e
PIEED)

fusdfess AfRY R wErs HaReTa
Ahed (SeT wiien vives giqey
EIRIGED)

(ST e Siwek T8 Ufshan) W
AR HERY h YRS Shed

(B)

(€

(D)
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28. Which of the following alternatives | 98 fagm (A) =nfor FROT (R) =1 faemramdy

is true for the statements of

Assertion and Reasoning ?

Assertion (A) : While studying the
relationship between gender and
extraversion researcher used a point

bi-serial correlation.

Reason (R) : A point bi-serial
correlation can be used when one of
the variables is naturally dichotomous
and the other variable is continuously

measurable.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) is not the correct

explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

EeteIdeht HhI0al 931 alel e ?

faum (A) : fam e EIc
T KA TN Uee aaa T
TgdH Feqdy e

~

FHROT (R) : S Tw IRexd @i
fg-fasrse o, enfor gomn aftae wem
AT 318 deel dige S qedsy
AT A

o .
-
+

(A) (A) 37for (R) <=1 T 1A (R)

T (A) ¥ TR SEL 3TR

(B) (A) =fo1 (R) <=1 & 21 (R)

T (A) ¥ TR FUSR ARl

(C) (A) ¥ ¥ 31, 79 (R) & 3HA
Sl

D) (A) T 3@ & 997 (R) ® 9
T

16



29.

30.

31.

What is the innermost layer of the

meninges ?

(A) Dura mater

(B) Pia-mater

(C) Choroid plexuses
(D) Arachnoid layer

Understanding a metaphor or an
analogy involve which of the

following cognitive functions ?
(A) Episodic memory

(B) Decision-making

(C) Procedural memory

(D) Abstraction

According to analytical therapy
which four stages sequence is a

correct example ?

(A) Education; Elucidation;

Confession, Transformation

(B) Transformation; Education,

Elucidation, Confession

(C) Confession; Elucidation;
Education; Transformation
(D) Elucidation; Education,

Confession, Transformation

29.

30.

31.

APR - 13224/T1—C
TSR TR Heid STl oY Shivwdl ?

(A) T FR
(B) W AR

(C) &RFE =y

(D) TWHEE =R

IF AT TG ATA AThAHIG!
FUA SR w1 ?

(A) ®AT Tl
(B) fof= emwan

(C) wfsrarcHer il

(D) A

~

fITATIUTeHs ATEITER T5dIYHT0]

EATeTdeh! Il =R ShaAl AT HH

3T A SRd 2

(A) TRegor; TreieRTor; shgeiientor; TREd
(B) 9Rew; foreqor; Seiehior; FHeeieh o

(C) hecTenul; TeiehaT; fererur; afiacH

(D) Taeienor; Torer; sheetisheor; e

17
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32.

33.

34.

35.

Which of the following is not a
typical component of prejudice ?
(A) Stereotyping

(B) Catharsis

(C) Discrimination

(D) Negative feeling

The validity of a psychological test
reflects that :

(A) on repeated use it yields similar
results

(B) Multiple versions of the test
yield similar results

(C) Inter-correlations between
items are positive

(D) The test measures what it
purports to measure

Social psychologists interested in the
study of altruism have been
especially concerned with its
relationship to :

(A) Empathy

(B) Egocentrism

(C) Social facilitation

(D) Cognitive dissonance
Transformational grammar theory
of language by Chomsky argues for :
(A) Surface and deep structures
(B) Finite state grammar

(C) Non-modular structure

(D) Relativity

32.

33.

34.

35.
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o~

EelTeTush ! hiorr fo
el ?

(A) HEEETT

(B) fat=d

(C) TV

(D) TshIcHeR  HTaHl

IERTE Ao J9mefar § <eied ¢

(A) T2 IR dHd TR 9T
B

(B) wm=vi=n fafay g ¥\
RO fegam

(C) T=viidid UIAHed 99 Wedaay
STHAd

ACEC A E D]

(D) =m=ol & HYd o9 Q9] 3%

gl

AT ATTEYTEE @ TUThRTIT=A
AIEEEST T e, fasra:
= eUeETed frfed o19ad

(A) Yt

(B) 3ok el

(C) HmAfSTsh HAN

(D) srufiw fagamwe

SreehET rofaeRlt aied= g SR Lo
fogia © O &l

(A) TRy anfor feq =

(B) fafaa feerdt =R

(C) ATTHIEe® T=AT

(D) Hra&Td
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36. On the WAIS, the ability to deal | 36. <% &1 9=, IV ST THISTH
with abstract social conventions, e EEr R
rules and expressions is assessed
through which test ? (A) SHRITYE (HTfed)

(A) Information (B) fafietids (=)

(B) Similarities - . - N
(C) fuer wmyeiiem (o= qof =)

(C) Picture completion

(D) Comprehension (D) MM (3ThalT)

37. An instrument in which the | 37. SFR(=AT YUl HF TAL AR
individual’s score is compared with ToTeIsR Tl T, T SO 6
scores of other individuals is called : REIRSICY
(A) Ipsative instrument (A) TgHATE =
(B) Projective instrument (B) Werqure=
(C) Norm Referenced instrument (C) WMeheR e ==
(D) Criterion Referenced instrument (D) TeRmieR et =i

38. Which is correct if the following are | 38. ¥H I, ¥eH II o1 &2H III = e
arranged in order of stratum I, TTee Jhema faga Aree @ Arg %A
stratum II and stratum III theory FE o8 ?
of intelligence ?

(1) o= PMA
(1) Thurstone’s PMA

2) FrawE=a 150 &
(2) Guilford’s 150 abilities @
(3) Spearman’s 9 factor (3) THSHT 9 e
(A) (1), (2) and 3) A) (D, 2 s (3)
B) B), (2) and (1) (B) 3), (2 s (1)
(C) (2), (1) and (3) (C) (2), (1) s (3)
D) 2), 3) and (1) D) (2), (8) s (1)
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39.

40.

41.

Which of the following suggests that
immutable, biological characteristics
(eg. gender) are product of human
definition and interpretation shaped

by culture :

(A) Critical perspective

(B) Existential phenomenology
(C) Post-positivism

(D) Social constructionism

Who used levels of processing
procedure to investigate the effects
of intentionality and awareness on

retrieval ?
(A) Jacoby and Dallas
(B) Schott et al

(C) Richardson-Klavehn and

Gardiner

(D) Gardiner and Jawa

Which aspects of knowledge

Paradigms refers to the nature of
reality ?

(A) Epistemology

(B) Positivism

(C) Ontology

(D) Constructivism

39.

40.

41.
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WIEATeTeh! shIvTd] giteehi= 318 AMGl i
Srafterdg, S qoed (Ser. o) ¥
e SAREAT STV Wehiaeh ST yenfad
Bl ?

(A) Tafecrs gfenm
(B) SAfdcllcHsh SR

(C) W FINYIAR]

(D) ISR EAER

YAFIAER SFTEhddl & gqel giomd

STHTUITRIAT Uil TTdesral YN hivil

el ?

(A) Srhdl T ST

(B) ¥Ie 9 T

(C) faEgw-vamee o mfemw

(D) MER 9 a0

EATeTUeh! ShI0d WM UTEY SRqaT=]
wEUEed 9 g ?

(A) JEHERE

(B) HhRIcHRI

(C) eAfeiceramst

(D) T=AER
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42. In a 2x2 completely randomised | 42. T&HI 2 x 2 TUTUl AGfeseh EEhTIHN]
factorial design, how to determine SrErvimed rafear afionme wE
interaction effect ? o ?

(A) Statistical significance of SSpy; (A) SSpy; MU SSpye = HETHE

(B) Statistical significance of (B) SSpyy; x SSpye 9t AiETIR

(C) Graphical presentation where (C) W e S I ThHHMT o8
lines cross each other G|

(D) Insignificant error term (D) T SIS T

43. Interaction df for 2 x 3 completely | 43. THI 2 x 2 UMY AGIoHh FSHITIN
randomised factorial design are : AEEame df 3ed
A) 1 A 1
(B) 2 (B) 2
) 4 (C) 4
(D) 6 (D) 6

44. Which of the following theories is not | 44. &I e 3THal HgaAQ &
considered as a part of stimulus— ITHET T /i A
response theory of learning ? . L.

(A) gFEEs® THEM
(A) Thorndike’s theory
(B) Tdiee TS
(B) Pavlov’s theory
(C) Skinner’s theory (©) 5
(D) Tolman’s theory (D) e fagre
21 [P.T.O.



45.

46.

47.

Which of the following are defining

aspects of flow ?
(1)
(2)
(3)
(4)

It’s a state
Somewhat rare
Occurs under any condition

Occurs when skill and challenge

are imbalanced
(A)
(B)
()
(D)

MacLean’s (1952) influential limbic
system theory of emotion is based

only (2)

Only (1) and (2)
Only (3) and (4)
Only (1), (2) and (3)

................... theory of emotion.
(A) Papez’s

(B) Cannon Bard’s

(C) James Lange

(D) Two-stage

The of

consistency and distinctiveness are

concept consensus,

most closely associated with :
(A) Attitude change

(B) Persuasion

(C) Propinquity

(D) Attribution

45.

47.

APR - 13224/I11—C

T SRV Tl (WETEraun) = S
aMed ?

(1) o feordt oM

(2) FE FEOIG gHi

(3) =ivraETEl aRfeerta fmio 2

(4) HINeT 9 ATRE I SAFHAAT
Tt 2

K (2)

e (1) 2foT (2)
TR (3) 0T (4)
TR (1), (2) &fr (3)

(A)
(B)
©)
(D)

o= fagmaer emeia o7e.
(A) 9™

(B) &1 @18

(C) =f¥g o

(D) fgoes

ThHd, | AT IO Bl Tl

Bl il

(A) fae sk
(B) Hdesfaol
(C) HH=

(D) TR
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48.

49.

50.

Bottom-up processing is to

stimuli as top-down processing is to

(A) Unfamiliar; familiar
(B) Visual; auditory

(C) Familiar; unfamiliar
(D) Perceptual; subliminal

The process that leads to the

awakening of inner being is called :
(A) Meditation

(B) Yoga

(C) Sadhana

(D) Prayer

Which of the following is the correct
description of the Kruskal-Wallis

test ?

(A) It requires the assumptions of

parametric test

(B) It is a non-parametric

alternative to one-way ANOVA

It

alternative to correlated ¢’ test

©) is a

non-parametric

(D)

It is used when there is a large

sample size data

48.

49.

50.
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Teali-oR Ufshall B Serdehi¥l Selfed

o o [}

(A) THTesEl; AleEr

(B) §&; A=A

(C) 3TeswElrd; eTresw
(D) HoeAwh frfed; =
sTafter  TfEacar=t STl SHTvIATHTS!

qelehR HURT Ufhamd 318 el 9

>

(A) =FHYgRen
(B) &rm
(C) =g
(D) Wi

) N AN o
hEhel-dIelld 41 ATdUTd  Elefleldeh]

HIUT T SEY e ?

(A) Il Ur=d TR eSS

(B) & wwAr fo=wor favasmomare:
YA Y= ST

(C) T T ¢ SI=uEe STH=e 93

Sl

(D) il Heran THA1 MR HiSl ST

geel I SUINT LA
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51.

52.

Following are the statements of
Assertion (A) and Reason (R).
Answer them with the help of the

following code :

Assertion (A) : It is appropriate to
use means and end heuristic for a
target of completing the academic

syllabus in four months.
Reason (R) : Because it requires
one to identify the end and divide
the syllabus into attainable chunks
to reach the end.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) 1is the

(B)

not correct
explanation of (A)

©)

(D)

(A) is true but (R) is false
(A) is false but (R) is true
Gita upholds the necessity of :
(A) Rewards, Puraskar

(B) Action, Karma

(C) Self, Visada

(D) Knowledge, Vidhya

51.

52.

APR - 13224/T1—C
“faum (A) =for sror (R)" 918t et
faem foel sTed. TRl fooiean Sehdienre

YR I =L

faam A) @ =R A daf
ST HUGUIEES TR oA Y
T (F o Teq ggREe)
IR AT ST

HRUT (R) :  IM9TSl 9ige ¥ied

AIYFHITE TUedl IS ST TR

gm0 SEvIS 3.

(A) (A) =71 (R) T2 ¥cF 3ATed A
(R) ¥ (A) ¥ =s KU 3R

(B) (A) smftr (R) & Q6! T 37Ied,
g (R) ¥ (A) & IFg RO &

(C) (A) 9T 3¢ W (R) & 3TH 3¢

(D) (A) 379 3T, WY (R) § 9 e
TicH &9 S9ed eeten a8

(A) 98, TR

(B) &, FH

(C) @, foomg

(D) =, ferem
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53. Which is correct about Wuest’s | 53 7ege fusdiarag sgsi =
approach to grounded theory 7 gfeh M@ HIvd sReR T ?
(A) Modern feminist epistemology L.

(B) Post-modern feminist epistemology (A) ST TG R

(C) Modern gender-neutral (B) I MY TAeET FHIT
epistemology (C) emyfieh foiaesy e

(D) Post-modern gender-neutral .
epistemology (D) ST STYHE ;

54. Which of the following alternatives | 54. ‘‘fa®m (A) aAfor o (R) " =1 WSS
is correct for the following “Assertion T2 faum feeft omeq. w@meft faerem
and Reasoning’ statements ? T T S =
Assertion (A) :  Cloninger’s tri- o N .
dimensional model of personality R (A) AR AT
provide novelty seeking as a ffdia areT A =1 e e
biologically based dimension. (gl Toepi) 2 SieRmsia SeR
Reason (R) : According to this A ST 3Te.
model, low level of serotonin drives FET R) : = TR,
to seek experience (or substance) to aaaa A . N . -
increase serotonin and novelty and H{ldml.ﬂt“ AL AT < SRS
thrill make up for low serotonin. (STHAIHE) G M Ve T 4
Codes : gt et TgA S qIdes! aTed.
(A) Both (A) and (R) are true and Hehdleh :

(R) is a correct explanation (A) (A) a7 (R) ¥ 71 O oM,

of (&) & (R) & (A) 3 SRR F01 1
(B) Both (A) and (R) are true but - -

(R) is not a correct explanation (B) (A) &ufm (R) & <=1 ¥ 3Mew,

of (A) 70 (R) & (A) = SR R0 A&l

(C) (A) is true but (R) is false (C) (A) ¥ 2Te Uv (R) § 319H 3®

(D) (A) is false but (R) is true D) (A) 3THF 2R 90 (R) T 9F %
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55.

56.

Which of the following are

components of Sensation Seeking

Scale (SSS) ?

(1) Thrill and adventure seeking
(2) Experience seeking
(3) Boredom susceptibility
(4) Novelty seeking
(A) Only (1) and (2)
(B) Only (2) and (3)
(C) Only (1), (2) and (3)
(D) Only (2), (3) and (4)

Which of the Five-Factor model
domain is further separated by

HEXA Co ?

(A) Extraversion (E)
(B) Neuroticism (N)
(C) Agreeableness (A)

(D) Conscientiousness (C)

55.

56.
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TEAeTdeh] hIod Sy e e
I SARd ?

(1) faer suftr sfesd=r whed

(2) TI9a e

(3) “helsl FEUM

(4) Aoz gy

(A) T (1) o (2)

(B) e (2) 37U (3)

(C) ®a (1), (2) 2for (3)

(D) ekl (2), (3) A (4)

= Ua-9e agarar hivm

s HEXA Co ¥ 37l el ?

(A) (E)
(B) U= (N)

(C) STHlsTeer ¥ (A)

(D) wi~E=RtesETE (C)
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57. Match List I with List IT and select

the correct answer using the codes

given below :

List-1

(Theoretical Perspective of

Lifespan Development)

(P)
Q
(R)
(S)

(1)
(2)
3)
4)

Socioculture
Psychosocial
Sociocognitive
Bioecological
List-I1

(Theorist)
Urie Bronfenbrenner
Lev Vygotsky
Albert Bandura

Erik Erikson

Codes :

® @@ ® ©

@ @ @ & @

B 1 3 @2 @

© @ @2 @©O &

M 3 1 @ @

APR - 13224/T1—C
57. el 1 sqfor Iy 11T AmHeel Siedn el

9 geidl HehdiohraAl SMER I AT :

et 1

(Shamam faesmam=r Hgifasw gfea)
(P) WHISTHRG R
(Q) HramHISTH
(R) HHATSEETCHS

(S) & uRfeerder=
Iaret 11

(ATR)
(1) Fh FTHTITR
(2) ©@ AR

(3) ST W=
(4) & oA

0 -
+
-

(P)
A (2)
B) M
) @

D) 3)

(Q
4)
3)
(2)
(1)

(R)
3)
(2)
(1)
(4)

S)
(1)
4)
3)
2)
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58.

59.

60.

Which of the following is/are true
about the quasi-experimental

design ?

(D

It allows a stringent control on

extraneous variables.

of

participants to different groups

(II) Random

assignment

is easily done.
(A)
(B)
(©)
(D)

(I) only

(II) only

Both (I) and (II)
Neither (I) nor (II)
To

pressure the following training is the

combat bullying and peer

most beneficial :
(A) Communication
(B) Martial Arts
(C) Legal knowledge
(D) Assertiveness

The theory of response inhibition is
related with the :

(A) Extinction
(B) Learned helplessness
(C) Latent Learning

(D) Spontaneous recovery

APR - 13224/I11—C

58. THH VIR AEUNfIoRl Eefeiieht

59.

60.

FIOTA TSR T 7

(1) ErR e aeR gu e e

(II) FWeWTit FgeRir=! SeTes HHew
G CIREE Ul e G

(A) w1 (D

(B) ®e (ID)

(C) (I) @mfor (II) <=

(D) (I) @for (ID) Sl e

TR & fH=Tehed Tare gamer & wiiam
Haid guEl S

(A) S

(B) Wi STEH

(C) =hrEr A

(D) I

sforan FYA sl wafa o)
A) faee

(B) s1eAfad STEmR=Id]
(C) qa SR

(D) HeSl qH:Tw!
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61. Speech fluency is worst affected with | 61. &1 TIYRTAT THAM Tecd® &l
damage to : SievaEeR. aiomy gl
(A) Pyramidal tract (A) TS d#
(B) Broca’s area (B) ST faam
(C) Pontine region (C) d9i=H faum
(D) Wernicke’s area D) s faum
62. Conforming to an expectation or a | 62 ST &Y fohal fordigEy o1 3
request despite one does not believe T TEmEl R AR fovdry
in the activity is an example of : ST R § S
(A) Conformity (A) STI&Hd
(B) Obedience (B) STATEERION
(C) Compliance (C) e
(D) Acceptance (D) iFR
63. Sleep spindles are associated with 63. s hore Tv=E Wi e Heed
which state of sleep ? srEar 2
(A) Stage I (A) 2m 1
(B) Stage II (B) =@mm 1II
(C) Stage III (C) = III
(D) Stage IV (D) Zom IV
29 [P.T.O.



64. In the POSH Act, the ICC has an

65.

66.

important role, and the full form of

ICC is :

(A) International Co-ordination

Committee
(B) Internal Complaints Committee
(C) Inquiry Co-ordinating Committee
(D) International Governor Council

Which among the following is closely

related to Osmotic thirst ?
(A) Plasma

(B) Angiotensin

(C) Cholecystokinin

(D) GABA

Fiedler’s least preferred co-worker

measure provides an index of :
(A) Popularity

(B) Impression formation

(C) Leadership style

(D) Reactance

APR - 13224/I11—C

64. dfe1 TeeAsd ICC o TU "o g 9

65.

66.

o fomia &1 29 a®
(A) TTEIES wi-aferym i

( AT =T i)
(B) T&id heidy A (id dhi
|

(C) zFaAE@Y wi-sritferfen =i
(HrRelt == |iAd)

(D) A= s qieg

gl HYME TaY UEL Ui
S ?

(A) =T
(B) Uf=iafefaa

o ~

(C) FRIAMHE]

~

S

(D) e

Theecied] He-FhHaR AqH TEdl |

~

T I 7

o N

Gl ORI

(A) SrRiFE
(B) wraffidt
(C) et
(D) wicishan
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67.

68.

The process of breaking down the
goals into subgoals during problem

solving is called .................. .

(A) Means-end analysis

(B) General problem solver

(C) Flash bulb analysis

(D) Heuristic

Balance theories of Interpersonal
attraction make the assumption

that :

(A) People are basically good

(B)

People need to be self-actualize

©)

Most behaviour is externally

motivated

(D) People attempt to achieve
consistency in their thought and

action

67.

68.
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-

qRE TERT giesda e 3fE=m

IU-Sfesamed faumTol sivar=an wismad

Y WA

(A) FEF-Tey fagersm

(B) 9MM 9HE HISum

(C) TeTeT-9cd fageyo

(D) ST=AYUTEHR

SR 3MRSUT= A faga

Sﬂqﬁﬁ?ﬂ'l%'ﬁ

(A) @i Te: =i STed

(B) iRl T 2Ifashd 2 TRe 2Te

(C) =gt = € arel e Uia oTg

(D) R 3Tt fo=m 7 FHdiaed T

HET b0l I h{dld
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69.

70.

Trace conditioning refers to the

following :

(A) Conditioned stimulus (CS)
precedes the unconditioned

stimulus (UCS)

(B) Unconditioned stimulus (UCS)
precedes the

stimulus (CS)

conditioned

(C) Conditioned stimulus (CS) and
unconditioned stimulus (UCS)

begin at the same time

(D) Conditioned stimulus (CS) and
unconditioned stimulus (UCS)

ends at the same time

You are at a party and meet
someone you are really interested in.
You get that person’s phone number
but have no way to write it down,
so you use the process of ................

to get into memory.
(A) Retrieval

(B) Storage

(C) Encoding

(D) Rehearsal

69.

70.
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Y AfEYEE & Ui B

(A) srfvafaa 3E9s s HRiaqa

SEIHRTAT 3T 3

(B) SAFsTiHfaa 3SEU® sfvEiya

SEURTET 3T A

(C) sAfvEfyd e o ST

SEUh Tahrd dadl g& Bl

(D) =Afuwfaa & 9 st sfad

SEUs UhTa dedl red]

SATIUT TehT UIETHEA AT Ush et W
ST GUEAH! shdih S99 =T, T feigd
0 ST AR TU[ AT @eie Wisha

0% ATl Sfad FATfase .
(A) J&AFIA

(B) dredu

(C) Hehad

(D) Tre|
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71. Adaptation, selection and shaping | 71. gfgHu=n AR FHSAHER, AR
are related to which type of Targ, o7 SR S0 § hIvea Tehrd=l
intelligence according to the qfgH =vifeaE ?

Triarchic Theory of Intelligence ?

(A) TR (STIHenHd)
(A) Experiential

. (B) ShIFH=ieTa  (SEahRTTHRT)

(B) Componential

C) FiFHAA (HSHIH
(C) Contextual ©) (% )
(D) Creative (D) : ( )

72. Albert Bandura suggests that social | 72- STese SIS A T HIHITTR STE
learning is ................ not only a g YA TGN ST oI f3re
person’s behaviour learned but the T I Gl T SN Fa-gR W
social learning environment is AR T Seeel ST
altered by the person’s behaviour.

(A) fguefta
(A) Bilateral
B) T fauifia
(B) Reciprocally determined (B)
(C) Bipolar (©) fegam
(D) Interactive (D) SATRIHH

73. Post test counselling is an | 73. TU1 U TG URE ¥ TIIGYAMN
important part of the handling of Y He™ A
cases of :

(A) F&HUT
(A) Cancer

(B) Termaad T
(B) Alzheimer’s disease

(C) fosa <Hfern
(C) Senile dementia
(D) HIV AIDS (D) To.E. T
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74.

75.

76.

The scores of symbol search subtest
of WISC IV contributes to which

index ?

(A)

Verbal Comprehension Index

(VCD
(B)

Perceptual Reasoning Index

(PRI)
(C) Working Memory Index (WMI)
(D) Processing Speed Index (PSI)

the

sexualities,

In context of alternate
the term cisgender

denotes :

(A) People whose gender identity
matches their sex assigned at
birth

(B)

People whose sexuality is

undefined

(C) People whose gender identity

does not match the sex assigned
at birth

(D) People who are gender queer

The following tool is best suited to

assess personality disorders :
(A) MCMI
(B) MMPI
(C) MOCA
(D) NEOPI
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77. Which of the following is connected | 77. fem®mig=ar SOI wieameia TqHRI
with Guilford’s SOIs divergent RS TeiTueh] shd Seel See 2
thinking ability ? R -

(A) TTeThrE-THET H%e
(A) QGuilford - Zimerman Survey

(B) #efrwa smwfqu we=d
(B) Mednik Remote Association
(C) Wechsler’s DIQ © bIQ
(D) Crystallized intelligence (D) ¥hérs G

78. The Children’s Apperception Test | 78. IciehI=a TEaET TEUNCA HISHE
uses this material in the stimulus =M TR $el TR
cards :

(A) B
(A) Photographs

(B) woAET fos
(B) Animal pictures
(C) Cartoons ©
(D) Human figures (D) HFaETH

79. The term Development means a | 79. O™ o1 HLT9R sRaT=l w@d! W
progressive series of changes which ] I e 9oy
occurs as a result of ............ and ....... HHel Sl
(A) Biological and Psychological (A) S enfor amfaw
(B) Age and Maturation (B) =9 3mfor figerer
(C) Maturation and Experience (C) URusRral A0 ST
(D) Psychological and Social (D) #Ffges SAfon grATfsen
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80.

81.

82.

The main aim of existential

phenomenology in Western

Psychology is :
(A)

to focus on objective reality and

facts

(B)

to study human experience and

subjectivity

(C) to analyze the social

construction of reality

(D)

to explore power dynamics and

hidden assumptions in society

The branch of metaphysics that
deals with the nature of being is

called as :

(A) Ontology
(B) Epistemology
(C) Methodology
(D) Positivism

The letter Q in the acronym
LGBTQIA + stands for :

(A) Questionable
(B) Queer

(C) Questing
(D) Quark

80.

81.

82.
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(A) FAT=EA
(B) fedrew
(C) =&
(D) FelTeh
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83. Match each definition with one of the

four terms below :

(@)

®)

(c)

(d)

@
(i)
(ii1)

(tv)

(A)
(B)
©)
(D)

Definition

Aggression is caused by an

inborn aggressive instinct

Aggression is a natural reaction
to aversine events, such as

frustration, pain, and heat

People act aggressively only if

they have learned to do so

Certain beliefs make people and
nations more likely to engage

in violence

Terms
Social learning theory
Freud’s instinct theory
Frustration-aggression theory
Cognitive theory
(@) (b)
@) (@)
@) ()
@ (@v)
@ @

(c)
@) (@)
@ ()
@) ()
@) ()

(d)

APR - 13224/11—C
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(A)
(B)
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85.

86.

enables most

communication and exchange of
information between left and right

hemispheres.

(A) Cerebellum

(B) Corpus callosum
(C) Cerebral Cartex
(D) Limbic system

According to Asch conformity

decreased when :

(A) At least four confederates were

present

(B) At least one confederate agreed

with the participant
©)

The participant was a male

(D) The participant had high self-

esteem

The person’s genetic make up,

obstetric complications and

personality known as

factors in Psychopathology.
(A) Precipitating

(B) Predisposing

(C) Perpetuating

(D) Prenatal

84.

85.

86.
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BRIl

(A) Yerdeh
(B) TEEA

(C) FhHIU HILOR

(D) SYE
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87.

88.

89.

Which among the following is a
spinal nerve ?

(A) Optic
(B) Olfactory
(C) Vagus
(D) Coccygeal

Anil after a stroke had a difficulty
in recognizing faces. This condition
is known as .......ccccuuee... .

(A) Agnosia
(B) Apraxia
(C) Aphasia
(D) Astereognosis

Which among the
statement/s is/are true about

following

crystallized intelligence ?
() It is acquired through past
experiences and acculturalization
(i1) More the exposure better the
crystallized intelligence becomes
(ziz) Crystallized
rapidly during

intelligence
increases
infancy and declines thereafter.

Only (@)

Only (1)

Both (i) and (ii)
All (), (i) and (ii7)

(A)
(B)
©)
(D)

87.

88.

89.
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TEe RV TE AR g ?
(A) siffes
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(D) i3t
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90.

91.

92.

The following could be labelled as

a behavioural addiction :

(A) Heroin

(B) Alcohol

(C) Gaming

(D) Nicotine

For Wason Selection Task, if the rule
is ‘If P, then Q’, the correct answer
is :

A P, Q

(B) P, Not Q

(C) Not P, Q

(D) Not P, Not Q

In the context of integral Yoga,
what does the term “Psychic

transformation” refer to ?

(A) Cultivating inner peace

through meditation

(B) Awakening the inner divine

consciousness

(C) Annihilation of the ego

(D)

Achieving detachment from

worldly desires

90.

91.

92.
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93.

94.

95.

Which school of Philosophy would
favour the statement, “Since both
pain and pleasure are the wealth of

man, they are his good teachers” ?
(A) Naturalism

(B) Idealism

(C) Pragmatism

(D) Existentialism

In the case of domestic violence, only

the following statements is true :

(A)

The abuser alone is responsible

for the violence

(B)

The victim is responsible for the

violence

Both abuser and victim are

(&)

responsible for the violence

(D) Neither abuser nor victim are

responsible for the violence

In the Wechsler memory scale,

which subtest consists of passages ?
(A) Mental control

(B) Memory span

(C) Associate learning

(D) Logical memory

93.

94.

95.
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96.

97.

98.

The validity scales on the MMPI
and MMPI II are represented by the
following alphabets :

A T, F, C

B) L, F K

C M, P, R

D) Y, N, C

A blank card is used in :
(A) CAT

(B) Rorschach

(C) TAT

(D) BGT

According to Kelley’s theory of
causal attribution we are most likely
to attribute another’s behaviour to

external factors when :

but
distinctiveness and consistency
is high

(A) Consensus is low

(B) Consensus, distinctiveness and

consistency is high

()

Consensus and consistency are

high but distinctiveness is low

(D)

Consensus, distinctiveness and

consistency are low

96.
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99. According to Piaget’s theory of | g frys aizy femmrs fasmrEn
cognitive development, the earliest
TagIAER Treliel Twaitent afge 2o
development stage from those listed
below is : (A) IET-FhRE AT
(A) Sensori-motor .
(B) Y& Wfharcaeh saeen
(B) Preoperational
(C) 7 dferarer afewe
(C) Concrete operations
(D) Formal operations (D) SIrehTeR GlshdlcHeh 3T
100. “Glimpses of Abhidhamma” a famous | 100. ' ey sitw sifween'’ § ufbs T
book is written by whom ? =it fafee ?
(A) Eric Fromm (A) sReh %
(B) Dalai Lama (B) TR &M
(C) Daniel Golman (C) fe e
(D) Chogyam Trungpa D) S qu
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